Solutions to Algebraic Expressions — Test A Fundamentals ' Challenge  Expert

. a (11+x)(3-x)=33-11x+3x-x"=33-8x—-x" Al
b)  (x+5)(x" —8x+6)=x"—8x" +6x+5x’ —40x+30 MI

3 5 Alternative Method: You could
=x" —3x"-34x+30 Al instead multiply the second pair of
; ; ; Y (. A . <4—— |brackefs first to get
o) (x-2)(x+3)(x=5)=(x*+x-6)(x-5) Ml M

=x' =5x  +x7 =5x—6x+30 Ml
=x'—4x* —11x+30 Al [6 Marks|

2. a)  36-9x—x"=—(x"+9x-36)=—(x+12)(x-3) M1
—(x+12)(3-x) Al
by 2y’-y-21=Qy-7)(y+3) AlAl
©)  2x’—4x’+2x=2x(x’-2x+1) Ml

=2x(x-1)" Al [6 Marks]
Tyt 1 oy Y
3 a) = XS =—XY =2 Al
35" 5y S 5
B) St ext=5x""" =5x" Al
ol sx2
9) (.\")5 =x S=x" Al [3 Marks]|

4. a)  A75 427 =425x3 +49x3 =25 x3 +/9x/3 M1
=5/3+3/3=8/3 Al

b) %:\/?:@ M1
=\4x5 =Jax5 M1
=2J5 Al

o) V2x3/8=3/2x8 Ml

=316 =3x4=12 Al [7 marks|

b) (2/1)S Exlji M1

i
=x> =% Al
3 Ly 2
c) (ﬁ) 2 =(xz) M1
1 3 3
=x2 2=x4Al [7 Marks]

1
6. a) 8 =3Y8=Y2x2x2=2 Al
(Vis) " mi

=47 :L‘:LAl [3 Marks]
4 64

b) 16

Il

Solutions to Test 1.2a — Algebraic Expressions — version 1.1 Page 1 of 2 © ZigZag Education, 2018



I I ~1-7\/— =2/

7 M1
Tle2vz —1e2d2 C1-adz (-1+2v2)(-1-2+2)
__ -l _ M1
(_])2 = (2\/5)~ Technique: Use the difference of
two squares technique to eliminate
1 surds from the denominator by
= i-\/—_z— M1 multiplying by a fraction
1-8 equivalent to 1
—1-2+2 2
=l ;£ _ ”7ﬁ Al [4 Marks]

8. a) 7y ><4y X%) [7X4X%j ())3xy5><y2) M1
— 14><y2+w72 14))[() A]
-z 2 2
o (8) -t a() S m
- ({/g)*l Xx()k; =27xx" Ml

1 1 1 |-
=—X—=—7 |0r —X Al
27 X' 4x! ( 4 )

) VA5 —~44 —\20 = JOx5 VAT —4x5 =/9x/5 —JAxT1-J4x:[5 M1
=3/5-24/11-2/5 M1

=/5-2J11 A1 [8 Marks]
) Technique: Use the difference of
9. X -dy’=x _(2y)~ M1 < two squares:
a2 — b2 = (a + b)(a = b)
=(x+2y)(x-2y) Al [2 Marks]

10. a) (2+«/§)(4f\/§)=8—2J§+4\B—(ﬁ)2 M1
=8-2/5+4/5-5=3+25 Al

. 3 3 3 32f

(2+\/§)(47\/§) 34295 3+245 3- 2\/—

(3 245) "
¥ - (245)

_9-6J5 _9-6v5 i
9-20 —11

:_2+£\/§ Al |6 Marks]|
11 11

|-

b) \/,\TX\/25\ ( ) xﬁx\/_ ( ) ><5><( 4) M1
7l ak
=5xx 2xx * Ml
Zo u
=5xx? =5x? Al |5 Marks]
v A3\ _ a2 P Technique: Write 27 and 9 as
12. 27" =9.(3") =3° M1 < roware ot 3
¥ =3"~3x=2 Ml
2
x=— Al |3 Marks|
3

TOTAL 60 MARKS
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